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THEXy « T - FER - 5 Mo % FREAL K B (B¢ & M| TE (B ESM)
Pl es
= 1 140, 313, 439
T
= 1 135, 886, 800
PRI T
m3 7,000 86, 681, 700
E7dell A 1
= 1 61,117, 000
A K SR R A
= 1 19, 572, 000
FEHA (-27) At 50, 000m3 AT
= 1 1, 801, 100
i S A
= 1 3, 402, 700
gt WL (-27)
= 1 788, 900
FE AL T
= 1 49, 205, 100
R (SR TEa
= 1 32, 963, 000
FEHA (-27) At 50, 000m3 AT
= 1 1, 801, 100
b5 e U T
= 1 14, 441, 000
G an
= 1 4, 426, 639
THAEK T
= 1 222,192
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AR 22X 1524 X 6096
= 71,232
KA+ H i (14F) i+
= 150, 960
i L
= 185, 633
av) ) - 18-8-40 (= %)
= 76, 761
7B TR - T AT A
= 95, 472
G| HAEN A7 KR
= 13, 400
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= 1, 790, 813
IR+ 4.0mPl b FEA L
= 10,115
IS RS A s
= 9,945
ba-bE SMEE 1FE ¢ 1000
= 1,271,785
KRR $ 1000 HHA L
= 337, 940
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TEHR LB T
= 1 216, 079
I av9Y)=hi (JE57)
= 1 57, 000
ALy av9Y)=hik (JE57)
= 1 38, 790
SCHE T IBEKE | SRkT
= 1 68, 083
BU % E L IBEKE | SRkT
= 1 52, 206
ARME T
= 1 1,791, 392
AW B
= 1 1,791, 392
B TR
= 1 140, 313, 439
I
= 1 11, 549, 120
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= 1 2, 190, 639
TR
= 1 826, 313
TR B S MR ST
= 1 705, 142
IERA TR
= 1 121,171
et By
= 1 189, 242
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oA E
= 1 189, 242
BGmEsET (K30
= 1 1,175, 084
HIMGERE (FE L)
= 1 9, 358, 481
Wi
= 1 151, 862, 559
B
= 1 35, 050, 731
T AT
= 1 186, 913, 290
— R
= 1 27,766, 710
TS
= 1 214, 680, 000
THEBLFH Y %H
= 1 21, 468, 000
TH#&G
= 1 236, 148, 000
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